Bidder Company Name APEX Contractors, Inc

PROPOSAL FORM

Chicago Drive Enhancements Georgetown Charter Township, Michigan

TO:

Mr. Daniel L Carlton, Superintendent Georgetown Charter Township 1515 Baldwin Street Jenison, Michigan 49429

Bid Opening: Wednesday, July 30th at 2:00 pm at Georgetown Charter Township, 1515 Baldwin Street, Jenison, Michigan 49429

The undersigned bidder has carefully examined the plans and specifications for the construction of Chicago Drive Enhancements in the Georgetown Charter Township, Michigan, as prepared by M. C. Smith Associates and Architectural Group, Inc. and, having carefully examined the site and completely familiarized himself with local conditions affecting the cost of the work; hereby states that he will provide all necessary labor, equipment, tools, machinery, apparatus and all other means of construction, do all the work and furnish all materials called for by said plans and specifications in the manner prescribed by in accordance with the requirements of the contract, specifications and drawings; and will accept as full and complete payment therefore the Lump Sum Bid Amount Which Is The Summation Of The Cost Of The Items Of Work And Must Be Equal To The Summation Of The Extension Of The Unit Prices in the amount of: Five hundred Forty eight thousand

Five hundred Forty Five and %/00 Dollars
and Zero Cents (\$ 548, 545.00)

This is not a unit price contract. The following unit prices will be utilized to assess bids, revise contract amounts, and develop change orders. Bidders must provide unit prices for every bid item at the time the bid is submitted. The Base Bid amount must be equal to the summation of the extension of all unit prices; Items 1 through 48. Bids which are incomplete or inaccurate will be subject to disqualification.

Bidders shall immediately notify the Landscape Architect of any perceived errors, omissions or discrepancy in the bid item quantities so they and other bidders can be advised of an acceptable bid procedure. This is a Lump Sum Bid. The base bid as submitted is for complete construction as shown by the plans, details and specifications.

The bidder agrees to reduce or add to the amount of the Base Bid under this proposal for any items deleted or added in accordance with the following unit prices. These unit prices shall include overhead and profit for each associated work item.

SITE CONSTRUCTION

| Item No. | Description | Qty. | Unit * | Installed Unit Price | Unit Total |
|-------------|--|------|-----------|-------------------------|--------------|
| 1. | Mobilization and maintaining traffic complete | 1 | LS | \$ 19,140 | \$ 19,140.00 |
| 2. | The cost of project related bonds, insurance and permits | 1 | LS | \$ 11,792.88 | |
| 3. | Project sign as per specifications and location as directed by Landscape Architect | 1 | LS | \$1155.00 | \$ 1155.°° |
| 4. | All layout and staking of trees, walls, lights and other site work elements complete | 1 | LS | | |
| 5. | General conditions: management, overhead and profit | 1 | LS | \$20,172.05 | \$ 3,600.00 |
| 6. | Construction Contingencies. Monies will be used in the contingency allowance only if directed in writing by the Owner. This allowance includes contractor's markups. Unused allowances will be deducted from the contract amount through contract change order. | 1 | LS | \$20,000.00 | \$20,000.00 |
| 7. | Furnish and install site electric service complete including new services, panels, trenching, directional boring, backfill and wiring to pole bases as per plans and specifications. | 1 | LS | , | \$ 80,410.∞ |
| 8. | Assemble and Install Kim Single Fixture Lights with 22' – 6" Round Straight Pole with Decorative Base and Era Bell 21" Luminare complete (supplied by owner) including concrete footings, wiring, hookup and duplex receptacles as per Detail No. (1) on Sheet (16) and per plans and specifications. | 14 | EA | | \$ 22,484.°° |
| 9. | Assemble and Install Kim Single Fixture Lights WITH BANNER ARMS with 22' – 6" Round Straight Pole with Decorative Base and Era Bell 21" Luminare complete (supplied by owner) including concrete footings, wiring, hookup and duplex receptacles as per Detail No. (2) on Sheet (16) and per plans and specifications. | | EA | \$ 1,700.00 | \$20,400.00 |
| 10 | Lights with 22' – 6" Round Straight Pole with Decorative Base and Era Bell 21" Luminare complete (supplied by owner) including concrete footings, wiring, hookup and duplex receptacles as per Detail No. (3) on Sheet (16) and per plans and specifications | | EA | \$ /870.°° | \$ /870.00 |

| Item No. | Description | Qty. | Unit * | Installed Unit Price | Unit Total |
|-------------|---|-------|-----------|-------------------------|---------------------------------------|
| 11. | Assemble and Install AAL LAMP 39- SWA-SAH MTW PR4-4R18 INCH -125 including footing, wiring, per Detail No. (5) on Sheet (15) and per plans and | | | | |
| | specifications. | 20 | EA | \$ 429.00 | \$ 8580.00 |
| 12. | LTV767 / LTV768 – LED including footing block, wiring, per Detail No. (7) on Sheet | 20 | . | 2045 | 0 / 625 00 |
| 13. | (15) and per plans and specifications. | 32 | EA | \$ 204,00 | \$ 6528.00 |
| 13. | Furnish and install (4) Stone Walls at 72'-6" LF each complete as per Detail (2) on Sheet (9) and as per plans and specifications | 290 | LF | \$ 427.00 | s /23, 830.°° |
| 14. | | 392 | SF | \$ 6.00 | \$ 2352.00 |
| 15. | | 740 | LF | \$ 4.20 | \$ 3108.°° |
| 16. | | 740 | LI | 3 7.20 | 3 0700. |
| | specifications | 216 | SY | \$ 13.41 | \$ 2896.56 |
| 17. | | 216 | SY | \$ 4.00 | \$ 864,00 |
| 18. | | 72 | SY | \$ //.60 | \$ 792.∞ |
| 19. | | 2,887 | SF | \$ 4.15 | \$ 11,981.05 |
| 20. | Remove curb complete and furnish and install concrete dub downs with Tactile warning indicators as per Detail (2) on Sheet (8) and as per plans and | | | \$ /232.∞ | |
| 21. | specifications. Paint Striping complete including | 4 | EA | | 0 1/20. |
| | crosswalks as per plans and specifications. | 76 | LF | \$ 4.40 | \$ 334.40 |
| 22. | Remove existing turf and prepare site for topsoil and seeding at Median A as per plans and specifications | 3,472 | SY | \$1.06 | \$ 4928.°° \$ 334.46 \$ 3686.32 |

| Item No. | Description | Qty. | Unit * | Installed Unit Price | Unit Total |
|-------------|---|-------|-----------|-------------------------|--------------|
| 23. | Remove existing turf and prepare site for topsoil and seeding at Median B including grading to balanced earthwork quantities as per Detail (2) on Sheet (7) and as per plans and specifications | 3,095 | SY | \$ 1.06 | \$ 3280,70 |
| 24. | Remove existing turf and prepare site for topsoil and seeding at Island C as per plans and specifications | 312 | SY | \$ 1.06 | \$ 330.72 |
| 25. | Remove existing turf and prepare site for topsoil and seeding at Median D as per plans and specifications | 2,007 | SY | \$ 1.06 | \$ 2127, 42 |
| 26. | Remove existing turf and prepare site for topsoil and seeding at Island E as per plans and specifications | 326 | SY | \$ 1.06 | \$ 345.56 |
| 27. | Furnish and install irrigation system complete including directional boring. | 1 | LS | \$ 47,000.00 | \$ 47,000.°° |

RESTORATION AND LANDSCAPING

Furnish and install the following landscape plant material complete including mulch per Details (1) thru (9) on Sheet (9) and per plans and specifications.

Deciduous Trees

| Item | Botanical Name | Qty. | Min. | Installed | Unit Total |
|------|------------------------------------|------|----------|------------|-------------|
| No. | Common Name | | Size | Unit Price | |
| 28. | Aesculus x carnea | | 2 ½" | | |
| | Red Horsechestnut | 3 | Cal. | \$ 393.∞ | \$ 1179.00 |
| 29. | Aesculus hippocastanum | | | | |
| 12 | Horsechestnut | 5 | 3" Cal. | \$ 424.00 | \$ 2120 |
| 30. | Acer x freemanii 'Celzam' | | | | |
| | Celebration Freeman Maple | 11 | 4" Cal. | \$ 500.00 | \$ 5,500.00 |
| 31. | Betula nigra- Multistemmed 3 Min. | | 2" Cal./ | | |
| | River Birch | 8 | Stem | \$ 235.50 | \$ 1884.∞ |
| 32. | Gleditsia triacanthos 'Skycole' | | | | |
| | Skyline Honeylocust | 18 | 4" Cal. | \$ 393.11 | \$ 7,075.98 |
| 33. | Kolreuteria paniculata | | 2 1/2" | | |
| | Golden Rain Tree | 5 | Cal. | \$ 393.20 | \$ 1966.00 |
| 34. | Liquidambar styraciflua | | | | / |
| | Sweetgum | 9 | 4" Cal. | \$ 500.00 | \$ 4500.00 |
| 35. | Pyrus caleryana 'Cleveland Select' | | | | |
| | Cleveland Select Pear | 4 | 3" Cal. | \$ 370.00 | \$ 1,480.00 |
| 36. | Syringa Reticulata 'Ivory Silk' | | | | , |
| | Ivory Silk Japanese Lilac | 8 | 2 ½" Cal | \$ 3/6.63 | \$ 2533.04 |

| Item No. | Botanical Name Common Name | Qty. | Min. Size | Installed Unit Price | Unit Total |
|-------------|--|------|--------------|-------------------------|-------------|
| 37. | Quercus Bicolor Swamp White Oak | 6 | 3" Cal. | \$ 370.∞ | \$ 2220,∞ |
| 38. | Zelkova serrata 'Green Vase' Green Vase Zelkova | 11 | 4" Cal. | \$ 500.00 | \$ 5.500.00 |

Evergreen Trees

| | Botanical Name Common Name | Qty. | Min. Size | Installed Unit Price | Unit Total |
|-----|-------------------------------|-------|--------------|-------------------------|------------|
| 39. | Picea abies | | 10-12' | | |
| | Norway Spruce | 11 | Ht. | \$45000 | \$ 5038.00 |
| 40. | Picea glauca densata | | 10-12' | | |
| | Black Hills Spruce | 6 | Ht. | \$ 473.00 | \$ 2838.00 |
| 41. | Picea pungens | ***** | 10-12' | | |
| | Green Colorado Spruce | 5 | Ht. | \$ 473.00 | \$ 2365.0 |

Deciduous and Evergreen Shrubs

| Decidu | Deciduous and Evergreen Shrubs | | | | | |
|--------|------------------------------------|------|---------|------------|------------|--|
| | Botanical Name | Qty. | Min. | Installed | Unit Total | |
| | Common Name | | Size | Unit Price | | |
| 42. | Juniperus sabina | | 18"-24" | | | |
| | Broadmoor juniper | 64 | Spread | \$ 39.13 | \$ 2504.32 | |
| 43. | Spiraea japonica 'Little Princess' | | 15"-18" | _ | | |
| - | Little princess spirea | 32 | Ht. | \$ 27.00 | \$ 864,00 | |
| 44. | Cotoneaster horizontalis | | 18"-24" | 2 | | |
| - | Rock cotoneaster | 32 | spread | 38.∞ | 1,216.00 | |

Perennials and Grasses

| | Botanical Name Common Name | Qty. | Min. Size | Installed Unit Price | Unit Total |
|-----|--|------|--------------|-------------------------|-------------|
| 45. | Hemerocallis 'Stella de Oro' Stella De Oro Daylily | 124 | #1 Pot | \$ 8.00 | \$ 992.00 |
| 46. | Miscanthus sinensis 'Little Kitten' Little Kitten Japanese Silver Grass | 56 | #1 Pot | \$ 8.00 | \$ 448.00 |
| 47. | Rosa coral drift 'Meidriflora' Coral Drift Rose | 48 | #2 Pot | \$ 21.00 | \$ /00 8.00 |

APEX Bidder Company Name

| Item No. | Description | Qty. | Unit * | Installed Unit Price | Unit Total |
|-------------|---|-------|-----------|-------------------------|--------------|
| 48. | Furnish and install topsoil and sod in medians and as per plans and specifications | 8,833 | SY | \$ 7.00 | \$ 61.831.∞ |
| 49. | Furnish and install seeding and restoration at all areas disturbed during lighting installation, concrete paving and landscaping north and south of Chicago Drive | 1 | LS | s 9 500,°° | \$ 9500.°° |
| | | CON | STRUCT | TION TOTAL | \$548,545.00 |

*Unit Descriptions
LS = Lump Sur Lump Sum Lineal Feet LF SF Square Feet SYSquare Yard

EA = Each Cal. = Caliper Height Ht. =

B&B =Balled & Burlapped

Spd. = Spread

Pot = Container Size

LIST OF SUBCONTRACTORS

LIST ALL SUBCONTRACTORS: To be completed as part of Bid Proposal.

| Name of Subcontractor | Type of Work | <u>Amount</u> |
|---------------------------------------|--------------|---------------|
| Landscape Design | Landscaping | 242,000.00 |
| DUT Electric | Electrical | 128,000.00 |
| Schepers Irrigation | Irrigation | 43,000.00 |
| K&K Concrete | Concrete | 15,000.00 |
| | | , |
| | , | |
| , | | |
| | | |
| | | |
| | | |
| | | |
| · · · · · · · · · · · · · · · · · · · | | |
| | 9 | |
| | | |
| | × | |
| | | |
| | | |
| | | |
| | | |
| 2 | | |
| | | |
| | | |
| | | |

The undersigned agrees as follows:

To do any extra work not covered by the above schedule of prices, which may be ordered by the Landscape Architect, and to accept compensation therefore as provided in Section 22 of the General Conditions entitled "Unclassified Work".

Begin work as soon as possible after the contract is executed and perform said work in such a manner as to complete it in accordance with Section 18 of the Information to Bidders and to coordinate their work with the other contractors involved.

The undersigned acknowledges the right of the Owner to accept or reject any proposal or part of any proposal submitted.

| We hereby acknowledge receipt of the following addenda and have included them in our proposal; Addenda Nos. |
|---|
| |
| Dated this 30th day of July, 2014. |
| By: Signature of Bidder |
| Name of Business APEX Contractors, Inc |
| Business Address of Bidder 4/0/ 27 th St. |
| Dorr, MI 49323 |
| Business Telephone of Bidder 616-896-8699 |
| Business Fax Number of Bidder 616 - 896 - 7137 |
| Email Address of Bidder apex. mark m @ yahoo. com |
| Incorporated under the laws of the State of Michigan |
| President Mark Miedema |
| Secretary Julia Micdema |
| Treasurer Julia Micdema |
| If Non-incorporated: |
| Names and Addresses of Members of the Firm: |
| |
| |
| |

Selective Insurance Company of America 40 Wantage Avenue Branchville, New Jersey 07890 973-948-3000

B 1147859

Kattler M. Koh Attorney-in-Fact Kathleen Kohn

BID BOND

KNOW ALL MEN BY THESE PRESENTS:

| That APEX Contractors, Inc. | |
|---|---|
| 4101 27th Street Dorr, MI 49323 as Principal, and the SELECTIVE INSURANCE C existing under the laws of the State of New Jersey (hereinafter called the Surety), as Surety, | (hereinafter called the Principal) OMPANY OF AMERICA, a corporation created and y, with its principal office in Branchville, New Jersey |
| are held and firmly bound unto Georgetown Charter Tov 1515 Baldwin Street Jenison, MI 49428 | wnship |
| | (hereinafter called the Obligee) |
| in the full and just sum of 5% Percent of the (5%), good and lawful money of the Unit money well and truly to be made, the said Principal at executors, administrators, successors and assigns, jointle Signed, sealed and dated this 30th day of | ed States of America, to the payments of which sum of and Surety bind themselves, their and each of their heirs, |
| THE CONDITION OF THIS OBLIGATION IS SU days to the Principal for Chicago Drive Enhancements | CH, That, if the Obligee shall make any award within 60 |
| and enter into a contract with the Obligee in accordance shall give bond for the faithful performance thereof we Principal shall, in case of failure so to do, pay to the | the Principal therefor, and the Principal shall duly make ce with the terms of said proposal or bid and award and ith Surety or Sureties approved by the Obligee; or if the Obligee the damages which the Obligee may suffer by this bond, then this obligation shall be null and void; |
| In Testimony Whereof, the Principal and Surety have ca | |
| WITNESS: | APEX Contractor Inc. (SEAL) |
| (If individual or Firm) | (SEAL) |
| | (SEAL) |
| ATTEST: | Principal |
| (If Corporation) sectres | |
| (II Corporation) sections | SELECTIVE INSURANCE COMPANY OF AMERICA |



Selective Insurance Company of America 40 Wantage Avenue Branchville, New Jersey 07890 BondNo.B 1147859 973-948-3000

POWER OF ATTORNEY

Public Bid

SELECTIVE INSURANCE COMPANY OF AMERICA, a New Jersey corporation having its principal office at 40 Wantage Avenue, in Branchville, State of New Jersey ("SICA"), pursuant to Article VII, Section 1 of its By-Laws, which state in pertinent part:

> The Chairman of the Board, President, Chief Executive Officer, any Executive Vice President, any Senior Vice President or any Corporate Secretary may, from time to time, appoint attorneys in fact, and agents to act for and on behalf of the Corporation and they may give such appointee such authority, as his/her certificate of authority may prescribe, to sign with the Corporation's name and seal with the Corporation's seal, bonds, recognizances, contracts of indemnity and other writings obligatory in the nature of a bond, recognizance or conditional undertaking, and any of said Officers may, at any time, remove any such appointee and revoke the power and authority given him/her.

does hereby appoint Kathleen Kohn

, its true and lawful attorney(s)-in-fact, full authority to execute on SICA's behalf fidelity and surety bonds or undertakings and other documents of a similar character issued by SICA in the course of its business, and to bind SICA thereby as fully as if such instruments had been duly executed by SICA's regularly elected officers at its principal office, in amounts or penalties not exceeding the sum of: Six Hundred Thousand Dollars (\$600,000.00)

| Signed this 30th day of July , 2 | 14 |
|----------------------------------|--|
| | SELECTIVE INSURANCE COMPANY OF AMERICAN |
| | ORPOR ALL Q |
| | By: SEAL 1926 |
| | Brian C. Sarisky |
| | Its SVP, Chief U/W Officer, Commercial Lines |
| STATE OF NEW JERSEY: | |
| ss Branchville | |

COUNTY OF SUSSEX

, 2014 before me, the undersigned officer, personally appeared Buildy C., Sarisky, 30th day of July who acknowledged himself to be the Vice President of SICA, and that he, as such Vice President, being authorized so to 1/2 do, executed the foregoing instrument for the purposes therein contained, by signing the name of the corporation by as Vice President and that the same was his free act and deed and the free act and deed of SICA.

> Charlene Kimble **Notary Public of New Jersey** My Commission Expires 6/2/2016

The power of attorney is signed and sealed by facsimile under and by the authority of the following Resolution adopted by the Board of Directors of SICA at a meeting duly called and held on the 6th of February 1987, to wit:

"RESOLVED, the Board of Directors of Selective Insurance Company of America authorizes and approves the use of a facsimile corporate seal, facsimile signatures of corporate officers and notarial acknowledgements thereof on powers of attorney for the execution of bonds, recognizances, contracts of indemnity and other writing obligatory in the nature of a bond, recognizance or conditional undertaking."

| CERTIF | TICATION | ANCE COMPA |
|--|---|--|
| I do hereby certify as SICA's Corporate Secretary that the for force and effect and this Power of Attorney issued pursuant to Signed this 30th day of July , 2014. | regoing extract of SICA's By-Laws and Resolve and in accordance with the By-Laws is valid | SEAL 1926 SEAL 1 |

Important Notice: If the bond number embedded within the Notary Seal does not match the number in the upper right-hand corner of this Power of Attorney, contact us at 973-948-3000.

B91 (4-14)